

VALUE DISTRIBUTION OF q -SHIFT DIFFERENCE POLYNOMIALS

WANG Qiong-yan, YE Ya-sheng

(College of Science, University of Shanghai for Science and Technology, Shanghai 200093, China)

Abstract: In this paper, we investigate the value distribution of q -shift difference polynomials of meromorphic function with zero order. By using the Nevanlinna theory, we obtain the following result. Let f be a transcendental meromorphic function with zero order, m be a non-negative integer, $q, a, c \in \mathbb{C} \setminus \{0\}, b \in \mathbb{C}, \alpha(z)$ be a small function of $f(z)$. If $f(qz+c) - f(z) \not\equiv 0, n \geq 5$, then both $f(z)^n(f(z)^m - a)[f(qz+c) - f(z)] - \alpha(z)$ and $f(z)^n + a[f(qz+c) - f(z)] - b$ have infinitely many zeros, which improve the conditions $n \geq 7$ of Theorem D and $n \geq 8$ of Theorem E.

Keywords: zero order; difference polynomial; small function; Borel exceptional value

2010 MR Subject Classification: 30D35

Document code: A

Article ID: 0255-7797(2014)03-0469-09

1 Introduction and Main Results

In this paper, $\sigma(f)$ is the order of f , $\lambda(f)$ is the convergence exponent of zeros of f .

In recent years, many papers [1, 2, 5, 6, 11, 13] focus on the difference of the complex domain and get some difference analogues of the value distribution theory of meromorphic function. The difference analogues of $f'(z)$ are shift-difference $\Delta_c f(z) = f(z+c) - f(z)$ and q -difference $\Delta_q f(z) = f(qz) - f(z)$ or $\Delta_q f(z) = f(qz+c) - f(z)$, where $\Delta_c f(z) \not\equiv 0, \Delta_q f(z) \not\equiv 0$. The q -shift difference has been studied by some scholars. In 2006, Halburd, Korhonen [12], Barnett and Morgan [5] obtained the difference analogues of the second main theorem of Nevanlinna theory, the lemma on the logarithmic derivative, Picard's theorem and Clunie and Mokhon'ko lemmas. Later, some researchers investigate the value distribution of difference polynomials. It is important for further study of the difference equation.

In 1959, Hayman [14] proved two famous results.

Theorem A If f is a transcendental meromorphic function, $n(\geq 3)$ is a positive integer, then $f(z)^n f'(z)$ takes every finite non-zero complex value infinitely often.

Theorem B If f is a transcendental meromorphic function, $n(\geq 5)$ is a positive integer, and $a(\neq 0)$ is a constant, then $f'(z) - af(z)^n$ takes every finite complex value b infinitely often.

* Received date: 2013-06-19

Accepted date: 2013-09-04

Foundation item: Supported by National Natural Science Foundation of China(11371139).

Biography: Wang Qiongyan(1989-), female, born at Pingdingshan, Henan, major in complex analysis.

Theorem A also holds when $n = 1, 2$. The case $n = 2$ was settled by Mues [18]. Bergweiler and Eremenko [19] proved the case of $n = 1$. However, only in the case of $n = 4$ and $b = 0$ can the result of Theorem B be improved (see Mues [18]).

Zhang and Korhonen [2, Theorem 4.1] proved the following result.

Theorem C Let f be a transcendental meromorphic (resp. entire) function of zero order and q be a non-zero complex constant. Then for $n \geq 6$ (resp. $n \geq 2$), $f(z)^n f(qz)$ assumes every non-zero value $a \in \mathbb{C}$ infinitely often.

Liu and Cao [1, Theorem 1.3] proved the following result.

Theorem D Let f be a transcendental meromorphic (resp. entire) function with zero order, m, n be positive integers, a, q be non-zero complex constants. If $n \geq 7$ (resp. $n \geq 3$), then $f(z)^n (f(z)^m - a)[f(qz + c) - f(z)] - \alpha(z)$ has infinitely many zeros, where $\alpha(z)$ is a nonzero small function with respect to f .

Liu and Qi [6] proved the following result.

Theorem E Let f be a zero-order transcendental meromorphic function and a, q be nonzero complex constants. Then, for $n \geq 8$, $f(z)^n + a[f(qz + c) - f(z)]$ assumes every nonzero value $b \in \mathbb{C}$ infinitely often.

In this paper, we first improve the conditions of Theorems D and E in the following Theorems 1.1 and 1.2.

Theorem 1.1 Let f be a transcendental meromorphic function with zero order, m be a non-negative integer, n be a positive integer, $a, q \in \mathbb{C} \setminus \{0\}$. If $n \geq 5$, then $f(z)^n (f(z)^m - a)[f(qz + c) - f(z)] - \alpha(z)$ has infinitely many zeros, where $\alpha(z)$ is a nonzero small function with respect to f .

Theorem 1.2 Let f be a zero-order transcendental meromorphic function and a, q be nonzero complex constants. Then, for $n \geq 5$, $f(z)^n + a[f(qz + c) - f(z)]$ assumes every value $b \in \mathbb{C}$ infinitely often.

Then we consider the value distribution of $H_n(z) = f(z)^n [f(qz) - f(z)]$ in Theorems 1.3 – 1.6, where f is a transcendental entire function with finite order.

Theorem 1.3 Let f be a transcendental entire function with finite order, n be a positive integer, $q \in \mathbb{C} \setminus \{0, 1\}$, $\Delta_q f(z) = f(qz) - f(z) \not\equiv 0$. If $\sigma(f)$, the order of $f(z)$, satisfies $q^{\sigma(f)} \neq 1$, then $H_n(z) = f(z)^n \Delta_q f(z)$ has infinitely many zeros.

Example 1.3.1 Let $f(z) = ze^{z^2}$, $q = -1$, then $H_n(z) = f(z)^n \Delta_q f(z) = -2z^{n+1}e^{(n+1)z^2}$ has only one zero, so the condition $q^{\sigma(f)} \neq 1$ in Theorem 3 is necessary.

Theorem 1.4 Let f be a transcendental entire function with finite order, $d(\neq 0)$ is a Borel exceptional value of f , $q \in \mathbb{C} \setminus \{0, 1\}$, $\Delta_q f(z) = f(qz) - f(z) \not\equiv 0$. Then $H(z) = f(z)[f(qz) - f(z)]$ assumes every value $a \in \mathbb{C}$ infinitely often, and $\lambda(H - a) = \sigma(f)$, where $\lambda(H - a)$ is the convergence exponent of zeros of $H(z) - a$.

Theorem 1.5 Let f be a transcendental entire function with finite order, $q \in \mathbb{C} \setminus \{0, 1\}$, $\Delta_q f(z) = f(qz) - f(z) \not\equiv 0$. If f has infinitely many multiple zeros, then $H(z) = f(z)[f(qz) - f(z)]$ assumes every value $a \in \mathbb{C}$ infinitely often.

Theorem 1.6 Let f be a transcendental entire function with finite order, $q \in \mathbb{C} \setminus \{0, 1\}$,

$\Delta_q f(z) = f(qz) - f(z) \not\equiv 0$. If there exists an infinite sequence $\{z_n\}$ satisfying $f(z_n) = f(qz_n) = 0$, then $H(z) = f(z)[f(qz) - f(z)]$ assumes every value $a \in \mathbb{C}$ infinitely often.

2 Some Lemmas

In the following lemmas, the logarithmic density of set E is defined by

$$\limsup_{r \rightarrow \infty} \frac{1}{\log r} \int_{[1, r] \cap E} \frac{1}{t} dt.$$

Similarly, the lower logarithmic density of set E is defined by

$$\liminf_{r \rightarrow \infty} \frac{1}{\log r} \int_{[1, r] \cap E} \frac{1}{t} dt.$$

For the proof of Theorem 1.1, we require the following Lemma 2.1 [6, Theorem 2.1] and Lemma 2.2 [10, Lemma 3.4].

Lemma 2.1 Let $f(z)$ be a meromorphic function of zero order, and let $c \in \mathbb{C}$. Then

$$m(r, \frac{f(qz + c)}{f(z)}) = o(T(r, f))$$

on a set of logarithmic density 1.

Lemma 2.2 If $f(z)$ is a non-constant zero order meromorphic function and $q \in \mathbb{C} \setminus \{0\}$, then

$$T(r, f(qz + c)) = (1 + o(1))T(r, f(z)) + O(\log r)$$

on a set of lower logarithmic density 1.

For the proof of Theorem 1.2, we require the following Lemma 2.3 [10, Lemma 3.6].

Lemma 2.3 If $f(z)$ is a non-constant zero order meromorphic function and $q \in \mathbb{C} \setminus \{0\}$, then

$$N(r, f(qz + c)) = (1 + o(1))N(r, f(z)) + O(\log r)$$

on a set of lower logarithmic density 1.

For the proof of Theorem 1.3 and Theorem 1.4, we require the following Lemma 2.4 [8, p.75–76] and Lemma 2.5 [8, Theorem 1.36].

Lemma 2.4 Suppose that $f_1(z), f_2(z), \dots, f_n(z)$ ($n \geq 2$) are meromorphic functions and $g_1(z), g_2(z), \dots, g_n(z)$ are entire functions satisfying the following conditions

- (i) $\sum_{j=1}^n f_j(z) e^{g_j(z)} \equiv 0$;
- (ii) $g_j(z) - g_k(z)$ are not constants for $1 \leq j < k \leq n$;
- (iii) For $1 \leq j \leq n, 1 \leq h < k \leq n$,

$$T(r, f_j) = o\{T(r, e^{g_h - g_k})\} (r \rightarrow \infty, r \notin E),$$

then $f_j(z) \equiv 0$ ($j = 1, 2, \dots, n$).

Lemma 2.5 If $f(z)$ is a meromorphic function in the complex plane, and $a_1(z), a_2(z), a_3(z)$ are three distinct small functions of $f(z)$. Then

$$T(r, f) \leq \sum_{j=1}^3 \bar{N}(r, \frac{1}{f - a_j(z)}) + S(r, f).$$

3 Proofs of Theorem 1.1 and Theorem 1.2

Proof of Theorem 1.1 We set

$$F(z) = f(z)^n(f(z)^m - a)[f(qz + c) - f(z)]$$

and $\Delta_q f(z) = f(qz + c) - f(z)$, then

$$\begin{aligned} (n+m)m(r, f) &\leq m(r, f^n(f^m - a)) + S(r, f) \\ &= m(r, \frac{F}{\Delta_q f}) + S(r, f) \\ &\leq m(r, F) + m(r, \frac{1}{\Delta_q f}) + S(r, f) \\ &= m(r, F) + T(r, \Delta_q f) - N(r, \frac{1}{\Delta_q f}) + S(r, f), \end{aligned} \quad (3.1)$$

$$\begin{aligned} (n+m)N(r, f) &= N(r, f^n(f^m - a)) = N(r, \frac{F}{\Delta_q f}) \\ &\leq N(r, F) + N(r, \frac{1}{\Delta_q f}) - \bar{N}_0(r) - \bar{N}_1(r), \end{aligned} \quad (3.2)$$

where $\bar{N}_0(r)$ is the counting function of zeros of both $F(z)$ and $\Delta_q f(z)$, $\bar{N}_1(r)$ is the counting function of poles of both $F(z)$ and $\Delta_q f(z)$. (3.1) and (3.2) yield

$$(n+m)T(r, f) \leq T(r, F) + T(r, \Delta_q f) - \bar{N}_0(r) - \bar{N}_1(r) + S(r, f). \quad (3.3)$$

By Lemma 2.5, we have

$$T(r, F) \leq \bar{N}(r, F) + \bar{N}(r, \frac{1}{F}) + \bar{N}(r, \frac{1}{F - \alpha(z)}) + S(r, F). \quad (3.4)$$

From $F(z) = f(z)^n(f(z)^m - a)\Delta_q f(z)$ and $\bar{N}_0(r)$ is the counting function of zeros of both $F(z)$ and $\Delta_q f(z)$, we have

$$\begin{aligned} \bar{N}(r, \frac{1}{F}) &\leq \bar{N}(r, \frac{1}{f}) + \bar{N}(r, \frac{1}{f^m - a}) + \bar{N}_0(r) \\ &\leq (m+1)T(r, f) + \bar{N}_0(r) + O(1). \end{aligned} \quad (3.5)$$

From $F(z) = f(z)^n(f(z)^m - a)\Delta_q f(z)$ and $\bar{N}_1(r)$ is the counting function of poles of both $F(z)$ and $\Delta_q f(z)$, we have

$$\bar{N}(r, F) \leq \bar{N}(r, f) + \bar{N}_1(r) \leq T(r, f) + \bar{N}_1(r). \quad (3.6)$$

Substituting (3.5) and (3.6) into (3.4), we have

$$\begin{aligned} T(r, F) &\leq \bar{N}(r, F) + \bar{N}(r, \frac{1}{F}) + \bar{N}(r, \frac{1}{F - \alpha(z)}) + S(r, F) \\ &\leq (m+2)T(r, f) + \bar{N}_0(r) + \bar{N}_1(r) + \bar{N}(r, \frac{1}{F - \alpha(z)}) + S(r, f). \end{aligned} \quad (3.7)$$

By Lemma 2.2, we have

$$T(r, \Delta_q f) \leq T(r, f) + T(r, f(qz + c)) \leq 2T(r, f) + S(r, f). \quad (3.8)$$

Substituting (3.7) and (3.8) into (3.3), we have

$$\begin{aligned} (n+m)T(r, f) &\leq T(r, F) + T(r, \Delta_q f) - \bar{N}_0(r) - \bar{N}_1(r) + S(r, f) \\ &\leq (m+4)T(r, f) + \bar{N}(r, \frac{1}{F - \alpha(z)}) + S(r, f) \end{aligned} \quad (3.9)$$

on a set of lower logarithmic density 1.

(3.9) implies that $F(z) - \alpha(z)$ has infinitely many zeros when $n \geq 5$. Thus the proof of Theorem 1.1 is complete.

Proof of Theorem 1.2 Denote $\Delta_q f(z) = f(qz + c) - f(z)$ and $\varphi = \frac{b - a\Delta_q f}{f^n}$.

We consider two cases

Case 1 $b - a\Delta_q f \equiv 0$. If $q \neq 1$, then $\Delta_q f = 0$ at the point $z_0 = \frac{-c}{q-1}$, contradicting $\Delta_q f \equiv \frac{b}{a}$. If $q = 1$, then any z_0 cannot be the pole of $f(z)$. Otherwise all points $z_0 + kc$ ($k = 0, \pm 1, \pm 2, \dots$) are the poles of $f(z)$, which implies that the order of $f(z)$ is at least one, also contradicting the assumption of the Theorem 1.2. If $f(z)$ is a transcendental entire function with order zero, then $f(z)$ has infinitely many zeros. Hence $f(z)^n + a[f(qz + c) - f(z)]$ assumes value b infinitely often.

Case 2 $b - a\Delta_q f \not\equiv 0$. Then

$$nm(r, f) = m(r, f^n) = m(r, \frac{b - a\Delta_q f}{\varphi}) \leq m(r, \frac{1}{\varphi}) + m(r, b - a\Delta_q f), \quad (3.10)$$

$$nN(r, f) = N(r, f^n) = N(r, \frac{b - a\Delta_q f}{\varphi}) \leq N(r, \frac{1}{\varphi}) + N(r, b - a\Delta_q f) - \bar{N}_0(r) - \bar{N}_1(r), \quad (3.11)$$

where $\bar{N}_0(r)$ is the counting function of zeros of both φ and $b - a\Delta_q f$, $\bar{N}_1(r)$ is the counting function of poles of both φ and $b - a\Delta_q f$.

By (3.10) and (3.11), we have

$$\begin{aligned} nT(r, f) &\leq T(r, \frac{1}{\varphi}) + T(r, b - a\Delta_q f) - \bar{N}_0(r) - \bar{N}_1(r) + O(1) \\ &\leq T(r, \varphi) + T(r, b - a\Delta_q f) - \bar{N}_0(r) - \bar{N}_1(r). \end{aligned} \quad (3.12)$$

From $\varphi = \frac{b - a\Delta_q f}{f^n}$, we know that the poles of φ are generated by the zeros of f and the poles of both φ and $b - a\Delta_q f$, thus

$$\bar{N}(r, \varphi) \leq \bar{N}(r, \frac{1}{f}) + \bar{N}_1(r). \quad (3.13)$$

From $\varphi = \frac{b-a\Delta_q f}{f^n}$, we know that the zeros of φ are generated by the poles of f and the zeros of both φ and $b - a\Delta_q f$, thus

$$\bar{N}(r, \frac{1}{\varphi}) \leq \bar{N}(r, f) + \bar{N}_0(r). \quad (3.14)$$

Applying the Nevanlinna second main theorem, thus from (3.13) and (3.14), we get

$$\begin{aligned} T(r, \varphi) &\leq \bar{N}(r, \varphi) + \bar{N}(r, \frac{1}{\varphi}) + \bar{N}(r, \frac{1}{\varphi-1}) + S(r, f) \\ &\leq \bar{N}(r, \frac{1}{f}) + \bar{N}(r, f) + \bar{N}(r, \frac{1}{\varphi-1}) + \bar{N}_0(r) + \bar{N}_1(r) + S(r, f). \end{aligned} \quad (3.15)$$

By Lemma 2.2, we have

$$T(r, b - a\Delta_q f) \leq 2T(r, f) + S(r, f). \quad (3.16)$$

Substituting (3.15) and (3.16) into (3.12), we have

$$\begin{aligned} nT(r, f) &\leq 2T(r, f) + \bar{N}(r, f) + \bar{N}(r, \frac{1}{f}) + \bar{N}(r, \frac{1}{\varphi-1}) + S(r, f) \\ &\leq 4T(r, f) + \bar{N}(r, \frac{1}{\varphi-1}) + S(r, f). \end{aligned} \quad (3.17)$$

That is

$$(n-4)T(r, f) \leq \bar{N}(r, \frac{1}{\varphi-1}) + S(r, f) = \bar{N}(r, \frac{1}{f(z)^n + a[f(qz+c) - f(z)] - b}) + S(r, f)$$

on a set of lower logarithmic density 1.

The above inequality shows that $f(z)^n + a[f(qz+c) - f(z)] - b$ has infinitely many zeros when $n \geq 5$. Thus the proof of Theorem 1.2 is completed.

4 Proofs of Theorem 1.3–Theorem 1.6

Proof of Theorem 1.3 Suppose that $f(z)$ has infinitely many zeros, then $H(z) = f(z)\Delta_q f(z)$ has infinitely many zeros. If $f(z)$ has only finitely many zeros, then we can set

$$f(z) = P(z)e^{h(z)},$$

where $P(z) (\not\equiv 0)$, $h(z)$ are polynomials and $\sigma(f) = \deg h(z) (\geq 1)$, thus

$$\Delta_q f(z) = P(qz)e^{h(qz)} - P(z)e^{h(z)} = e^{h(z)}[P(qz)e^{h(qz)-h(z)} - P(z)].$$

By the condition $q^{\sigma(f)} \neq 1$, we obtain that $h(qz) - h(z) \not\equiv \text{constant}$. Thus using Lemma 2.5, we get that $P(qz)e^{h(qz)-h(z)} - P(z)$ has infinitely many zeros, that is, $H(z) = f(z)\Delta_q f(z)$ has infinitely many zeros.

Thus Theorem 1.3 is proved.

Proof of Theorem 1.4 Suppose $d(\neq 0)$ is a Borel exceptional value of $f(z)$, we can set

$$f(z) = d + p(z)e^{\alpha z^k},$$

where k is a positive integer, $\alpha(\neq 0)$ is a complex constant and $p(z)(\neq 0)$ is an entire function satisfying

$$\sigma(p) < \sigma(f) = k,$$

thus

$$f(qz) = d + p(qz)e^{\alpha q^k z^k} = d + p(qz)e^{\alpha(q^k-1)z^k}e^{\alpha z^k} = d + p(qz)p_1(z)e^{\alpha z^k},$$

where $p_1(z) = e^{\alpha(q^k-1)z^k}$, $p_1(z)(\neq 0)$ is an entire function satisfying $\sigma(p_1(z)) = k$ or 0 .

So

$$H(z) = p(z)[p(qz)p_1(z) - p(z)]e^{2\alpha z^k} + d[p(qz)p_1(z) - p(z)]e^{\alpha z^k}. \quad (4.1)$$

Since $f(qz) - f(z) \neq 0$, this gives

$$p(qz)p_1(z) - p(z) \neq 0. \quad (4.2)$$

On combining (4.1) with (4.2), we deduce

$$\sigma(H) = \sigma(f) = k. \quad (4.3)$$

If $d^*(\in \mathbb{C})$ is a Borel exceptional value of $H(z)$, then we can set

$$H(z) = d^* + p^*(z)e^{\beta z^k}, \quad (4.4)$$

where $\beta(\neq 0)$ is a complex constant, $p^*(z)(\neq 0)$ is an entire function satisfying

$$\sigma(p^*(z)) < \sigma(H(z)) = k,$$

(4.1) and (4.4) give that

$$p(z)[p(qz)p_1(z) - p(z)]e^{2\alpha z^k} + d[p(qz)p_1(z) - p(z)]e^{\alpha z^k} - p^*(z)e^{\beta z^k} - d^* = 0. \quad (4.5)$$

If $\beta \neq 2\alpha$ or $\beta \neq \alpha$, combining Lemma 2.4 with (4.5), we get

$$p(qz)p_1(z) - p(z) \equiv 0,$$

this contradicts with (4.2).

Thus, any finite value a is not the Borel exceptional value of $H(z)$. Hence $H(z)$ assumes every value $a \in \mathbb{C}$ infinitely often.

It follows from (4.3) that $\lambda(H - a) = \sigma(H) = \sigma(f)$. Thus Theorem 1.3 is proved.

Proofs of Theorem 1.5 and Theorem 1.6 In the following, we only give the proof of Theorem 1.5. Theorem 1.6 can be proved similarly, we omit its proof.

Obviously, if $a = 0$, noting that $\Delta_q f(z)$ is an entire function and $f(z)$ has infinitely many zeros, we get that $H(z)$ has infinitely many zeros.

Now assume that $a \neq 0$ and $H(z) - a$ has only finitely many zeros, then we can set

$$H(z) - a = f(z)f(qz) - f(z)^2 - a = p(z)e^{h(z)}, \quad (4.6)$$

where $p(z), h(z)$ are polynomials. It follows from the condition of Theorem 1.5 that $H(z)$ is a transcendental entire function, hence $p(z) \not\equiv 0$ and $\deg h(z) \geq 1$. Taking derivatives in both sides of (4.6) and eliminating $e^{h(z)}$, we get

$$\frac{[f(z)f(qz)]'}{f(z)f(qz)} - \frac{[2f(z)]'}{f(qz)} = \frac{p'(z) + p(z)h'(z)}{p(z)} \left\{ 1 - \frac{f(z)}{f(qz)} - \frac{a}{f(z)f(qz)} \right\}. \quad (4.7)$$

From $p(z), h(z)$ are polynomials satisfying $p(z) \not\equiv 0$ and $\deg h(z) \geq 1$, we get $p'(z) + p(z)h'(z) \not\equiv 0$. Since $f(z)$ has infinitely many multiple zeros, so there exists a sufficiently large point z_0 , where z_0 is the zero of $f(z)$ with multiplicity $k \geq 2$, $p'(z_0) + p(z_0)h'(z_0) \neq 0$ and $p(z_0) \neq 0$. Next we discuss the following two cases.

Case 1 If z_0 is the zero of $f(qz)$ with multiplicity $k_q \geq 1$, then z_0 is the simple pole of $\frac{[f(z)f(qz)]'}{f(z)f(qz)}$ and the pole of $-\frac{[2f(z)]'}{f(qz)}$ with multiplicity $k_q - k + 1$. However, z_0 is the pole of $\frac{f(z)}{f(qz)}$ with multiplicity $k_q - k$ and the pole of $\frac{a}{f(z)f(qz)}$ with multiplicity $k_q + k$. This shows that (4.7) is a contradiction.

Case 2 If $f(qz_0) \neq 0$, then z_0 is the simple pole of $\frac{[f(z)f(qz)]'}{f(z)f(qz)}$ and the zero of $-\frac{[2f(z)]'}{f(qz)}$. However, z_0 is the zero of $\frac{f(z)}{f(qz)}$ and the pole of $\frac{a}{f(z)f(qz)}$ with multiplicity $k \geq 2$. This shows that (4.7) is also a contradiction.

Then $H(z)$ assumes every value $a \in \mathbb{C}$ infinitely often.

Thus the proof of Theorem 1.5 is completed.

References

- [1] Liu Kai, Liu Xinling, Cao Tingbin. Uniqueness and zeros of q -shift difference polynomials [J]. Proc. Indian Acad. Sci. (Math. Sci.), 2011, 121(3): 301–310.
- [2] Zhang J, Korhonen R J. On the Nevanlinna characteristic of $f(qz)$ and its applications [J]. Math. Anal. Appl., 2010, 369: 537–544.
- [3] Goldberg A A, Ostrovskii I V. Value distribution of meromorphic functions[M]. Transl. Math. Monogr., Vol. 236, Providence, RI: AMS, 2008,
- [4] Hayman W K. Meromorphic functions[M]. Oxford: Clarendon Press, 1964.
- [5] Barnett D G, Halburd R G, Korhonen R J, Morgan W. Nevanlinna theory for the q -difference operator and meromorphic solutions of q -difference equations [J]. Proceedings of the Royal Society of Edinburgh, 2007, 137A: 457–474.
- [6] Liu Kai, Qi Xiaoguang. Meromorphic solutions of q -shift difference equations [J]. Ann. Pol. Math., 2011, 101(3): 215–225.
- [7] Laine I, Yang C C. Value distribution of difference polynomials [J]. Proc. Japan Acad., 2007, 83A: 148–151.
- [8] Yang C C, Yi Hongxun. Uniqueness theory of meromorphic functions [M]. Kluwer Academic Publishers, 2003.

- [9] Liu Kai, Liu Xinling, Cao Tingbin. Values distributions and uniqueness of difference polynomials [J]. Advances in Difference Equations, 2011, doi:10.1155/2011/234215.
- [10] Xu Junfeng, Zhang Xiaobin. The zeros of q -shift difference polynomials of meromorphic functions [J]. Advances in Difference Equations, 2012, <http://www.advancesindifferenceequations.com/content/2012/1/200>.
- [11] Halburd R G, Korhonen R. Difference analogue of the lemma on the logarithmic derivative with applications to difference equations [J]. J. Math. Anal. Appl., 2006, 314: 477–487.
- [12] Halburd R G, Korhonen R. Nevanlinna theory for the difference operator[J]. Ann. Acad. Sci. Fenn. Math., 2006, 31: 463–478.
- [13] Chiang Y M , Feng S J. On the Nevanlinna characteristic of $f(z + \eta)$ and difference equations in the complex plane[J]. Ramanujan J., 2008, 16(1): 105-129.
- [14] Hayman W K. Picard value of meromorphic functions and their derivatives[J]. Ann. Math., 1959, 70: 9–42.
- [15] Clunie J. On integral and meromorphic functions [J]. J. Lond. Math. Soc., 1962, 37: 17–27.
- [16] Bergweiler W , Hayman W. Zeros of solutions of a functional equation[J]. Comput. Meth. Funct. Theory, 2003, 3: 55–78.
- [17] Mokhon'ko A Z. On the Nevanlinna characteristics of some meromorphic functions[J]. Theory of Functions, Funct. Anal. Appl., 1971, 14: 83–87.
- [18] Mues E. Über ein problem von Hayman[J]. Math. Z., 1979, 164: 239–259.
- [19] Bergweiler W, Eremenko A. On the singularities of the inverse to a meromorphic function of finite order[J]. Rev. Mat. Iberoamericana, 1995, 11: 355–373.

q -差分多项式的值分布

王琼燕, 叶亚盛

(上海理工大学理学院, 上海 200093)

摘要: 本文研究了零级的亚纯函数的 q -差分多项式的值分布. 利用Nevanlinna理论, 得到了以下结果. 设 f 是零级的超越亚纯函数, m 是非负整数, $q, a, c \in \mathbb{C} \setminus \{0\}, b \in \mathbb{C}$, $\alpha(z)$ 是 $f(z)$ 的小函数. 如果 $f(qz+c)-f(z) \neq 0, n \geq 5$, 则 $f(z)^n(f(z)^m-a)[f(qz+c)-f(z)]-\alpha(z)$ 和 $f(z)^n+a[f(qz+c)-f(z)]-b$ 有无穷多个零点. 该结果改进了定理D中的 $n \geq 7$ 和定理E中的 $n \geq 8$.

关键词: 零级; 差分多项式; 小函数; Borel例外值

MR(2010)主题分类号: 30D35 中图分类号: O174.52